* (CIK1B

INSTALLATION INSTRUCTIONS
PD28.5CH1

(@ ))




& General Information

Pleaseinspectthe productimmediately uponreceiptfor transit damage, missing packs/parts or
manufacturing fault. Damage reported later cannot be accepted. Please handle the product with care
avoiding knocks and shock loading to all sides and edges of the glass.

Notes: Safety glass can not be re-worked.

Pleaseread theseinstructions carefully before start of installation.
Special care should be taken when drilling walls to avoid hidden pipes or electrical cables.
Note: This productis heavy and may require two people to install.

Aftercare instructions

Afteruse,your shower should be cleaned with soap and water. This is particularly importantin hard
water districts where insoluble lime salts may be deposited and allowed to build up. Cleaners of a
gritty or abrasive nature should notbe used. Care should be taken to avoid contact with strong
chemicals, they can be used but with caution, ifin doubt contactthe manufacturer of the cleanerin
question.

Please keep these instructions for aftercare and customer service details.

N N N N NN NN N NN N N N N NN NN NN NN NN NN NN NN NN NN NN NN N TN NN NN NN TN TN TN TN TN NN NN

Tools Required

A This productis heavy and may require two people to install. ‘ ‘




¢ Assembly Drawing

~—
-
%. = [1] QD _ =t
’?
[2] _j
[3]
IR

)

(@]

14]

[5]
S [ [13]
» [
g L
len 2 T
o
X (]
» o
o B e
M g/ O 01/ /
% [1 6]
Item no.in .
exploded Description Q1Y
drawing picture
1 Wall Posts 2
2 Screws M4x1 3/8" 8
3 Wall Plugs 8
4 Screws M4x3/8" 8
5 Screw Cover Caps 8
6 Rotating Hinges 2
7 Turn The Vertical Wood 1
8 Screws M6x12 4
9 Door Gasket 1

Item no.in
exploded
drawing picture

10
1
12
13
14
15

16

17

18
19

Description

Door Panel
Bottom Door Gasket
Allen Wrench
Flat Screw Caps
Handle Set
Aluminum Pull

Transparent
Retaining Article

CK Post Cover Caps

Door Profile
Door Gasket

Ty

B .




¢ Installation Steps:
Step 1

L: The door panel is assembled well at the factory for left opening, install the door profile as below.

\\
\
\
L !
\ /
\ s
~

R: if need right opening, install according to procedures as below.




Step 2

=~

=

@

Step 3

INTERIOR
SHOWER SIDE




Step 5

Screw M4x3/8"

»

- \,_ -
A\ &% A\ s,v i\.ﬂ & A\ &
/IO \\ NUAPARS \/O\\ /O\\

_ NN AN Nt
< .
ﬁxo ﬁ\o/, ﬁ\o/, ﬁ\o/,
/IMj /Il\\ /l'\\ jl'\\
) — T—1

INTERIOR
SHOWER SIDE

Allow 24 hours for silicone to dry before use.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

